
CHEMISTRY

BOOKS - CENGAGE CHEMISTRY (HINGLISH)

P-BLOCK GROUP 18 ELEMENTS - THE INERT GASES

Illustration

1. (a)Why are the elements of group  known we moble

gases?

(b)Noble gases have very how bulting points why? 

(c ) Does the hydrogen of  lend in a radus reaction?

Watch Video Solution

18

XeF2

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_WYAps5Jf3xOI
https://dl.doubtnut.com/l/_4gZHOXiZ9tP0


Example

2. (a)What prompted Brithent in the disonvery of noble gas

compounds? 

(b) The majority of noble gas compound are these of xenon

.Give reason 

(c ) No chemical compound of He in known why?

Watch Video Solution

1.  has linear structure and not a bent structure , Given

reason .

Watch Video Solution

XeF2

https://dl.doubtnut.com/l/_4gZHOXiZ9tP0
https://dl.doubtnut.com/l/_eW4AxdyM5f6p


Exercises Linked Comprehension

1. Noble gases have compleately filled valance shall i.e. 

exceps He (i.e) .Noble gases are monoomic under normal

conductions .Law bolding point of the ligher noble gases are

due to weak van dor wads forces between the atoms and

abance of any interature imaractions  reacts with  so

give a sourceof fouoxide mently 

on complete hydrolyes gives , 


Structure of  is

A. Linear

B. Square plater

C. Tetrahedral

D. Pyramidel

m2sp2

Xe F2

XeF2, XeF4, XeF4, XeF3

XeFe3

XeF4

https://dl.doubtnut.com/l/_TZRJSxAuDgdz


Answer: b

Watch Video Solution

2. Noble gases have compleately filled valance shall i.e. 

exceps He (i.e) .Noble gases are monoomic under normal

conductions .Law bolding point of the ligher noble gases are

due to weak van dor wads forces between the atoms and

abance of any interature imaractions  reacts with  so

give a sourceof fouoxide mently 

on complete hydrolyes gives , 


Oxidetion state of  in  is

A. 

B. 

C. 

m2sp2

Xe F2

XeF2, XeF4, XeF4, XeF3

XeFe3

Xe XeF2

+2

+4

+6

https://dl.doubtnut.com/l/_TZRJSxAuDgdz
https://dl.doubtnut.com/l/_OPcOIrgC51FY


D. 

Answer: a

Watch Video Solution

+8

3. Noble gases have compleately filled valance shall i.e. 

exceps He (i.e) .Noble gases are monoomic under normal

conductions .Law bolding point of the ligher noble gases are

due to weak van dor wads forces between the atoms and

abance of any interature imaractions  reacts with  so

give a sourceof fouoxide mently 

on complete hydrolyes gives , 


Argon is used in are welting due to its

A. Flammability

m2sp2

Xe F2

XeF2, XeF4, XeF4, XeF3

XeFe3

https://dl.doubtnut.com/l/_OPcOIrgC51FY
https://dl.doubtnut.com/l/_q52AZUYV9Acx


B. zero

C. Law reactivityy with metal

D. Lower the melting with metal

Answer: c

Watch Video Solution

4. Noble gases have compleately filled valance shall i.e. 

exceps He (i.e) .Noble gases are monoomic under normal

conductions .Law bolding point of the ligher noble gases are

due to weak van dor wads forces between the atoms and

abance of any interature imaractions  reacts with  so

give a sourceof fouoxide mently 

on complete hydrolyes gives , 


 and  are expected to be

m2sp2

Xe F2

XeF2, XeF4, XeF4, XeF3

XeFe3

XeF4 XeF4

https://dl.doubtnut.com/l/_q52AZUYV9Acx
https://dl.doubtnut.com/l/_ii2idnVxxPqV


Exercises Multiple Correct

A. Reducting

B. Oxidising

C. Inert

D. Basic

Answer: b

Watch Video Solution

1. The noble gases which do not form any clatherate

A. He

B. Ne

https://dl.doubtnut.com/l/_ii2idnVxxPqV
https://dl.doubtnut.com/l/_RVRzgOKh1ARu


C. As

D. Kr

Answer: a,b

Watch Video Solution

2. Which of the following noble gases do not reasct with

function

A. Kr

B. Xe

C. He

D. Ne

Answer: a,d

https://dl.doubtnut.com/l/_RVRzgOKh1ARu
https://dl.doubtnut.com/l/_Zip5DsJCW4UQ


Watch Video Solution

3. The noble gases found dissolved in spring water are

A. He

B. Ne

C. Kr

D. Ar

Answer: a,d

Watch Video Solution

4.  are reaction with  givesXeF4 H2

https://dl.doubtnut.com/l/_Zip5DsJCW4UQ
https://dl.doubtnut.com/l/_YkCt4Inx640F
https://dl.doubtnut.com/l/_gz8O04pB1wgR


A. Xe

B. HF

C. 

D. 

Answer: a,b

Watch Video Solution

XeF2

XeF6

5. Which of the following compound cannot be prepared by

direct betyween the consituent element?

A. 

B. 

C. 

XeF

XeO3

XeF4

https://dl.doubtnut.com/l/_gz8O04pB1wgR
https://dl.doubtnut.com/l/_Cu5VS5zWqadm


D. 

Answer: b,d

Watch Video Solution

XeO2F2

6. Which of the following mases are used for the group 

elements?

A. Zero group elements

B. Aerogens

C. Noble gases

D. Chalcogens

Answer: a,b,c

Watch Video Solution

18

https://dl.doubtnut.com/l/_Cu5VS5zWqadm
https://dl.doubtnut.com/l/_5vKJLE6bO7ku


Exercises Single Correct

7. Which amongs the following statement are correct?

A.  combine to form salf

B.  do not form clabrances

C. He has highest bolling poin in the group

D. He diffuses through rubber

Answer: a,b,d

Watch Video Solution

XeF4 and SbF3

He and Na

1. Which of the following does not react with fluorine?

https://dl.doubtnut.com/l/_5vKJLE6bO7ku
https://dl.doubtnut.com/l/_aoAdUHHRDQCg
https://dl.doubtnut.com/l/_qO7DcFt0vDA4


A. Kr

B. Ar

C. Xe

D. All of these

Answer: B

Watch Video Solution

2. Which species is not known?

A. 

B. 

C. 

D. 

XeF6

XeF4

XeO3

KrF6

https://dl.doubtnut.com/l/_qO7DcFt0vDA4
https://dl.doubtnut.com/l/_98sMeIg60irb


Answer: d

Watch Video Solution

3. Xenon directly combines with

A. oxygen

B. rubidium

C. flaorine

D. chlorine

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_98sMeIg60irb
https://dl.doubtnut.com/l/_i8m3slFOVEpd


4. Xenon best rect with

A. the most electropositive element

B. the most electrogative element

C. the hydrogen halides

D. non-metals

Answer: b

Watch Video Solution

5. Radon was discovered by

A. Dorn

B. Ramsay

https://dl.doubtnut.com/l/_P648HFBIgrd0
https://dl.doubtnut.com/l/_TilA8G4KcPs5


C. Rayleigh

D. none of these

Answer: a

Watch Video Solution

6. The noble gas used in the preperation of first noble gas

compound was?

A. Xe

B. He

C. Cr

D. Rn

Answer: a

https://dl.doubtnut.com/l/_TilA8G4KcPs5
https://dl.doubtnut.com/l/_JLBkcJZzljYJ


Watch Video Solution

7. Electron affinity for a noble gas is appoximately equal to

A. that of halogens

B. zero

C. that of oxygen family

D. that of nitrogen family

Answer: b

Watch Video Solution

8. First stable compound of inert gas was prepered by

https://dl.doubtnut.com/l/_JLBkcJZzljYJ
https://dl.doubtnut.com/l/_9ASGyK4EAgip
https://dl.doubtnut.com/l/_vfWadolSl0bs


A. Rayleigh and Ramsay

B. Bartlett

C. Frankland and Lockyer

D. Cavendish

Answer: b

Watch Video Solution

9. The gaseous mixture used by deep sea divers for respiration

is

A.  mixture

B.  mixture

C.  mixture

N2 + O2

He + O2

Ar + O2

https://dl.doubtnut.com/l/_vfWadolSl0bs
https://dl.doubtnut.com/l/_3Lk4m9JplTHt


D.  mixture

Answer: b

Watch Video Solution

neon+O2

10. Xenon difluoride is

A. Linear

B. angular

C. trigonal

D. pyramidal

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_3Lk4m9JplTHt
https://dl.doubtnut.com/l/_CCPGLJ5aj0fS


11. The rare gases are

A. monoatomic

B. diatomic

C. triatomic

D. polyatomic

Answer: a

Watch Video Solution

12. The noble gases which do not form any clatherate

A. Xe

B. Kr

https://dl.doubtnut.com/l/_eyLiJV5R2IvL
https://dl.doubtnut.com/l/_s5rHxvJY5yQd


C. He

D. Ar

Answer: c

Watch Video Solution

13. The forces of cohesion in liquid helium are

A. covalent

B. ionic

C. van der waals

D. metallic

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_s5rHxvJY5yQd
https://dl.doubtnut.com/l/_FqBe4PeWdtN7


14. The lightest, non-inflammable gas is

A. 

B. 

C. 

D. Ar

Answer: d

Watch Video Solution

H2

He

N2

15. The inert gas present in atmosphere are

A. He and Ne

https://dl.doubtnut.com/l/_FqBe4PeWdtN7
https://dl.doubtnut.com/l/_bBZNCGWf3yXO
https://dl.doubtnut.com/l/_1WwUvxLZJjN7


B. He, Ne and Ar

C. He, Ne ,Ar and KR

D. He, Ne, Ar, Kr and Xe

Answer: d

Watch Video Solution

16. percentage of argon in air is about

A.  per cent

B.  per cent

C. much less then  per cent

D.  per cent

Answer: d

10

0.1

0.1

1

https://dl.doubtnut.com/l/_1WwUvxLZJjN7
https://dl.doubtnut.com/l/_Ifvb9y90Rkcs


Watch Video Solution

17. Inert gases such as heliume behave like ideal gases over a

wide range of temperature .However , they condense into the

solid state at very low temperatures. it indicates that at very

low temperature there is a

A. weak attractive force between the atoms

B. weak repulsive force between the atoms

C. strong attractive force between the atoms

D. strong repulsive atteractive between the atoms

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_Ifvb9y90Rkcs
https://dl.doubtnut.com/l/_RKXYnEy5IXMS
https://dl.doubtnut.com/l/_6IZjlWAyNIgY


18. The gas used for inflating the tyres of aeroplanes is

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

H2

He

N2

Ar

19. Major credit for the discovery of noble gases is given to

A. Cavendish

B. Ramsay

https://dl.doubtnut.com/l/_6IZjlWAyNIgY
https://dl.doubtnut.com/l/_74MS1KxUWkTu


C. Rayleigh

D. None of these

Answer: b

Watch Video Solution

20. Helium was discovered by

A. Frank land and Lockyer

B. Rayleigh

C. Ramsay

D. None of these

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_74MS1KxUWkTu
https://dl.doubtnut.com/l/_qenWdAHgmrzG


21. Argon was discovered by

A. Cavendish

B. Lavoisier

C. Rayleigh

D. Thomson

Answer: b

Watch Video Solution

22. A radioactive element  decays to give two inert gases  is

A. 

X X

.238
92 U

https://dl.doubtnut.com/l/_qenWdAHgmrzG
https://dl.doubtnut.com/l/_sxtdqrZgV36u
https://dl.doubtnut.com/l/_aXBY47HBjHAl


B. 

C. 

D. 

Answer: b

Watch Video Solution

.226
88 Ra

.232
90 Th

.227
89 Ac

23. Which gas is filled in element bulbs/tubes?

A. 

B. 

C. 

D. 

Answer: c

O2

N2

Ar

He

https://dl.doubtnut.com/l/_aXBY47HBjHAl
https://dl.doubtnut.com/l/_9EdvxsP4Pb4r


Watch Video Solution

24. In colour discharge tubes,which is used?

A. Ne

B. Ar

C. Kr

D. He

Answer: b

Watch Video Solution

25. The fluoride which does not exist is

https://dl.doubtnut.com/l/_9EdvxsP4Pb4r
https://dl.doubtnut.com/l/_lXRKgfwggbxx
https://dl.doubtnut.com/l/_EtRo9CbW7j56


A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

CF4

SF6

HeF4

XeF4

26. Which shows the least chemical reactivity?

A. Ammonia

B. Methane

C. Argon

D. Hydrogen sulphide

https://dl.doubtnut.com/l/_EtRo9CbW7j56
https://dl.doubtnut.com/l/_we4NeoTXLgTz


Answer: c

Watch Video Solution

27. The none-existent species is

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

XeF5

BrF5

SbF5

PF5

https://dl.doubtnut.com/l/_we4NeoTXLgTz
https://dl.doubtnut.com/l/_wPPniuMi7ILf


28. The ease of liquefaction of noble gases decreases in the

order

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

He > Ne > Ar > Kr > Xe

Xe > Kr > Ar > Ne > He

Kr > Xe > He > Ar > Ne

Ar > Kr > Xe > He > Ne

29. Compounds formed when the noble gases get entrapped

in the cavities of crystal lattices of certain oreganic and

inorganic compounds are known as

https://dl.doubtnut.com/l/_gTS9q8tzORgT
https://dl.doubtnut.com/l/_WkpSo5EeT06n


A. interstitial compounds

B. Clathrates

C. Hydrates

D. Picrates

Answer: b

Watch Video Solution

30. Which compound is prepared by the following reaction 

 


A. 

B. 

Xe + 2F2

Nivestel
−−−−−−−−−−−→

673K , 5 − 6atm

(1: 5volumeratio)

XeF2

XeF6

https://dl.doubtnut.com/l/_WkpSo5EeT06n
https://dl.doubtnut.com/l/_ndQ0kXH4Rc7X


C. 

D. 

Answer: c

Watch Video Solution

XeF4

XeOF2

31. The two electrons in helium atom

A. occupy different shells

B. have different spins

C. have the same spins

D. occupy different subshells of the same sabshell

Answer: d

Watch Video Solution

https://dl.doubtnut.com/l/_ndQ0kXH4Rc7X
https://dl.doubtnut.com/l/_BjYKEe2QGTJp


32. Which is called stranger gas ?

A. Kr

B. Xe

C. He

D. Ne

Answer: b

Watch Video Solution

33. Helium gives a characteristic spectrum with

A. orange and red lines

https://dl.doubtnut.com/l/_BjYKEe2QGTJp
https://dl.doubtnut.com/l/_7xwkf4QsmEAF
https://dl.doubtnut.com/l/_hfNkkLldtXZM


B. orange lines

C. yellow line

D. green line

Answer: c

Watch Video Solution

34. Geometry and hybridisation of  in  molecule is

A. square planar 

B. square pyramidal 

C. tetrahedral 

D. None of the above

Answer: b

Xe XeOf4

sp3d2

sp3d2

sp3

https://dl.doubtnut.com/l/_hfNkkLldtXZM
https://dl.doubtnut.com/l/_gSIPUpjmQau4


Watch Video Solution

35. Who observed helium first on the earth?

A. Lothar meyer

B. Ramsay

C. Sheele

D. Rutherford

Answer: b

Watch Video Solution

36. The noble gas which behaves abnormally in liquid state is

https://dl.doubtnut.com/l/_gSIPUpjmQau4
https://dl.doubtnut.com/l/_YQrLi0JUNsRc
https://dl.doubtnut.com/l/_PdLOc4TP46cW


A. Xe

B. Ne

C. He

D. Ar

Answer: c

Watch Video Solution

37. Noble gases do not accur in …..

A. nature

B. ores

C. atmosphere

D. sea water

https://dl.doubtnut.com/l/_PdLOc4TP46cW
https://dl.doubtnut.com/l/_4PQEsOF3UNlG


Answer: d

Watch Video Solution

38.  exists as …. Under ordinary atmospheric conditions

A. solid

B. liquid

C. gas

D. none of these

Answer: a

Watch Video Solution

XeF4

https://dl.doubtnut.com/l/_4PQEsOF3UNlG
https://dl.doubtnut.com/l/_59T1YhQWugUC


39. In order to prevent the hot metal filament from getting

burnt, when the electric current is switched on, the bulb is

filled with

A. 

B. an inert gas

C. 

D. 

Answer: b

Watch Video Solution

CH4

CO2

CI2

40. Radon is a noble gas , its radioactivity is used in the

treatment of

https://dl.doubtnut.com/l/_khwAy4VZlGSH
https://dl.doubtnut.com/l/_Elx2k60Ei2Jx


A. typhoid

B. cancer

C. caugh and cold

D. thyroid

Answer: b

Watch Video Solution

41. The idea which prompted bartlett to prepare first ever

compound of noble gas was

A. high bond energy of 

B. low bond energy of  in 

C. ionisation energies of  and xenon were almost similar

Xe − F

F − F F2

O2

https://dl.doubtnut.com/l/_Elx2k60Ei2Jx
https://dl.doubtnut.com/l/_ncoJscSwVJFC


D. none of the above

Answer: c

Watch Video Solution

42. Which of the following has zero valency?

A. Be

B. Se

C. Li

D. Ar

Answer: d

Watch Video Solution

https://dl.doubtnut.com/l/_ncoJscSwVJFC
https://dl.doubtnut.com/l/_gw86EKWkeYR4


43. Helium is used in gas balloons instead of hydrogen

because

A. it is higher than 

B. it is none-combustible

C. it is more abundant than 

D. its linkage can be detected easily

Answer: b

View Text Solution

H2

H2

44. A helium atom on losing an electron becomes

A.  particleα −

https://dl.doubtnut.com/l/_jpA0tx6W99wC
https://dl.doubtnut.com/l/_GoUxlPevZuGX


B. hydrogen atom

C. positively charged helium ion

D. negatively charged helium ion

Answer: c

View Text Solution

45. What are the products formed in the reaction of xenon

hexafluoride with silicon dioxide?

A. 

B. 

C. 

D. 

XeSiO4 + HF

XeF2 + SiF4

XeOF4 + SiF4

XeO3 + SiF2

https://dl.doubtnut.com/l/_GoUxlPevZuGX
https://dl.doubtnut.com/l/_QRbeMFZtLhY1


Answer: c

Watch Video Solution

46. Liquid flow from a higher to a level .Which of the following

liquids can climb up the wall of the glass vessel in which it is

placed ?

A. Alcohol

B. Liquid He

C. Liquid

D. water

Answer: b

Watch Video Solution

N2

https://dl.doubtnut.com/l/_QRbeMFZtLhY1
https://dl.doubtnut.com/l/_EuIzuASFhVQs


47. Remsay was awarded Noble Prize for the discovery of rare

gases in

A. 

B. 

C. 

D. 

Answer: c

View Text Solution

1900

1902

1904

1910

48. Neon in extensively used in

A. cold stronge unit

https://dl.doubtnut.com/l/_MC7EMKMcDONt
https://dl.doubtnut.com/l/_CEuvxQwi2vZm


B. organic compounds

C. medicines

D. coloured electric discharge lamps

Answer: d

View Text Solution

49. The discovery of isotopes began with the experiments with

A. Xe

B. Kr

C. Ar

D. Ne

Answer: d

https://dl.doubtnut.com/l/_CEuvxQwi2vZm
https://dl.doubtnut.com/l/_efrlo9ty9TZd


Watch Video Solution

50. Which statement about noble gases is not correct ?

A. a.  froms 

B. b.Ar is used in electric bulbs

C. c.Kr is obtained during redioactive disintegration

D. d.He has the lowest boiling point among all the noble

gases

Answer: c

Watch Video Solution

Xe XeF6

51. In solid argon , the atoms are held together by

https://dl.doubtnut.com/l/_efrlo9ty9TZd
https://dl.doubtnut.com/l/_IXXx2DyYaNSZ
https://dl.doubtnut.com/l/_Z5o8PeBf60mx


A. ionic bonds

B. hydrogen bond

C. van der waals forces

D. hydrophobic forces

Answer: c

Watch Video Solution

52. The van der waals forces are the greater in

A. neon

B. argon

C. krypton

D. xenon

https://dl.doubtnut.com/l/_Z5o8PeBf60mx
https://dl.doubtnut.com/l/_k63G4U8Hrgpx


Answer: d

Watch Video Solution

53. Electronegativety of an inert gas is

A. high

B. low

C. negative

D. zero

Answer: d

Watch Video Solution

https://dl.doubtnut.com/l/_k63G4U8Hrgpx
https://dl.doubtnut.com/l/_oBtLg8Mt144n


54. Which has the same electronic configuration as of inert

gas ?

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

Ag3 +

Cu2 +

Pb4 +

Ti4 +

55. Which of the following noble gas is not present in

atmosphere ?

A. Rn

https://dl.doubtnut.com/l/_DVHwFzfHx5wO
https://dl.doubtnut.com/l/_JME9A1UUvJSg


B. Kr

C. Ne

D. Ar

Answer: a

Watch Video Solution

56. Which noble gas is more soluble in water ?

A. He

B. Ar

C. Ne

D. Xe

Answer: d

https://dl.doubtnut.com/l/_JME9A1UUvJSg
https://dl.doubtnut.com/l/_1equAkUONZIs


Watch Video Solution

57.  on complete hydrolysis gives

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

XeF6

XeO3

XeO

XeO2

Xe

58. Xenon tetrafluoride has hybridisation and structure as

https://dl.doubtnut.com/l/_1equAkUONZIs
https://dl.doubtnut.com/l/_Aiqk4WvEmzmK
https://dl.doubtnut.com/l/_vihe8Jpe8Wil


A.  tetrahedral

B.  square planer

C.  pyramidal

D.  octahedral

Answer: b

Watch Video Solution

sp3

sp3d2

sp3d2

sp3d3

59. Which noble gas has higher and least polarisability

respectively ?

A. He,Xe

B. Ne,Kr

C. Kr,Ne

https://dl.doubtnut.com/l/_vihe8Jpe8Wil
https://dl.doubtnut.com/l/_JbIB938vt4q5


D. Xe,He

Answer: d

Watch Video Solution

60. Which is monoatomic?

A. Oxygen

B. Fluorine

C. Neon

D. Nitrogen

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_JbIB938vt4q5
https://dl.doubtnut.com/l/_aLTVek5o75xp


61. In the clathrates of xenon with water , the nature of

bonding between xenon and water molecule is _________.

A. covalent

B. hydrogen bonding

C. coordinate

D. dipole-induced dipole

Answer: d

Watch Video Solution

62. Asthma patients use a mixture of …..for respiration

A.  and O2 H2

https://dl.doubtnut.com/l/_u1twKhgPbzfe
https://dl.doubtnut.com/l/_e0vfwAsODYtJ


B.  and 

C.  and 

D.  and 

Answer: b

Watch Video Solution

O2 He

O2 Ar

O2 Ne

63. The solubility of noble gases in water shown the order

A. 

B. 

C. 

D. none of above

Answer: c

He > Ar > Kr > Na > Xe

He > Na > Ar > Kr > Xe

Xe > Kr > Ar > Na > He

https://dl.doubtnut.com/l/_e0vfwAsODYtJ
https://dl.doubtnut.com/l/_bwXW0gLRd6AN


Watch Video Solution

64. Out of (i)  the molecules

having same number of lone pairs on  are

A. (i) and (ii) only

B. (i) and (iii) only

C. (ii) and (iii) only

D. (i),(ii) and (ii) only

Answer: d

Watch Video Solution

XeO3(ii)XeOF4 and (iii)XeF6

Xe

65. Which is planar molecule ?

https://dl.doubtnut.com/l/_bwXW0gLRd6AN
https://dl.doubtnut.com/l/_Gw9uCjiaGRQa
https://dl.doubtnut.com/l/_u2fryt9rhp3x


A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

XeO4

XeF4

XeOF4

XeO2F2

66. Which of the following cannot he formed ?

A. 

B. 

C. 

D. 

He2 +

He⊕

He

He2

https://dl.doubtnut.com/l/_u2fryt9rhp3x
https://dl.doubtnut.com/l/_29mfm5SnFkZy


Answer: d

Watch Video Solution

67. Which statement regarding He is incorrect?

A. a.it is used in gas cooled nuclear reactor

B. it is used as a cryogenic agent for carrying out

experiment at low temperature

C. b.it is used to produce and sustain powerful

superconducting magnets

D. c.it is used to fill gas balloons instead of  because it is

lighter and non-combustible

Answer: d

H2

https://dl.doubtnut.com/l/_29mfm5SnFkZy
https://dl.doubtnut.com/l/_3xHOq4LgKjZj


Watch Video Solution

68. Which of the following is an explosive compound ?

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

XeO3

XeF2

XeOF2

XeOF4

69. The idea which prompted bartlett to prepare first ever

compound of noble gas was

https://dl.doubtnut.com/l/_3xHOq4LgKjZj
https://dl.doubtnut.com/l/_LMWtVMSlHKFN
https://dl.doubtnut.com/l/_Un6JmuEE3nWA


A. Low bond dissociation enthalpy of F-F in  molecule

B. High bond energy of 

C. Ionisation exthalpies of  and  are almost same

D. none of the above

Answer: c

Watch Video Solution

F2

Xe − F

O2 Xe

70. Noble gases are also known as aerogens because

A. They occur in air

B. They are rarely found in atmosphere

C. They are most rarely found in atmosphere

D. none of the above

https://dl.doubtnut.com/l/_Un6JmuEE3nWA
https://dl.doubtnut.com/l/_trpAZODKGWgr


Answer: a

Watch Video Solution

71. The gaseous mixture used by deep sea divers for

respiration is

A. Nitrogens is much less soluble in blood than helium

B. Helium is much less soluble in blood than nitrogen

C. Nitrogen is highly soluble in water

D. Due to high pressure deep under the sea nitrogen and

oxygen react to give poisonous nitric oxide

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_trpAZODKGWgr
https://dl.doubtnut.com/l/_O7olVZu2i9V3


Exercises Assertion And Reason

72. Percentage of argon in air is

A. Nearly half as that of 

B. Nearly half as that of 

C. Nearly thirty times as that of 

D. none of these

Answer: c

Watch Video Solution

CO2

CO2

CO2

https://dl.doubtnut.com/l/_O7olVZu2i9V3
https://dl.doubtnut.com/l/_SBHxfJurKIo3


1. Assertion :Solubility of noble gases in water decreases with

increases in atomic size 

Reason :Solubility of noble gases in water is due to

instantaneous dipole induced dipole interaction

A. If both (A) and (R ) are correct and (R ) is the correct

explanation of (A)

B. If both (A) and (R ) are correct,but (R ) is the correct

explanation of (A)

C. If (A) is correct but (R ) is incorrect

D. If (A) is incorrect but (R ) is correct

Answer: d

Watch Video Solution

https://dl.doubtnut.com/l/_ZrTg0mxUJHx1
https://dl.doubtnut.com/l/_MAeVDO1yHemf


2. Assertion : Noble gases are chemically inert 

Reason :All noble gases have  valence shell electronic

configuration

A. If both (A) and (R ) are correct and (R ) is the correct

explanation of (A)

B. If both (A) and (R ) are correct,but (R ) is the correct

explanation of (A)

C. If (A) is correct but (R ) is incorrect

D. If (A) is incorrect but (R ) is correct

Answer: c

Watch Video Solution

ns2np6

https://dl.doubtnut.com/l/_MAeVDO1yHemf


3. Assertion : He and Ne do no form any clathrates 

Reason : Both He and Ne are very small in size

A. If both (A) and (R ) are correct and (R ) is the correct

explanation of (A)

B. If both (A) and (R ) are correct,but (R ) is the correct

explanation of (A)

C. If (A) is correct but (R ) is incorrect

D. If (A) is incorrect but (R ) is correct

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_AccIasLa16m1


4. Assertion : Deep sea divers use  mixture for

breathing 

Reason : Unike  He is insoluble in blood ever under high

pressure

A. If both (A) and (R ) are correct and (R ) is the correct

explanation of (A)

B. If both (A) and (R ) are correct,but (R ) is the correct

explanation of (A)

C. If (A) is correct but (R ) is incorrect

D. If (A) is incorrect but (R ) is correct

Answer: a

Watch Video Solution

He − O2

N2

https://dl.doubtnut.com/l/_kY8wITMYRjJB
https://dl.doubtnut.com/l/_8Shr1YRH9MJJ


5. Assertion : Xenon from fluorides 

Reason :Because  orbitals are available for valance shell

expansion

A. If both (A) and (R ) are correct and (R ) is the correct

explanation of (A)

B. If both (A) and (R ) are correct,but (R ) is the correct

explanation of (A)

C. If (A) is correct but (R ) is incorrect

D. If (A) is incorrect but (R ) is correct

Answer: a

Watch Video Solution

5d

https://dl.doubtnut.com/l/_8Shr1YRH9MJJ


6. Assertion : He and Be have similar valence shell electronic

cofiguration  


Reason :Both are chemically inert.

A. If both (A) and (R ) are correct and (R ) is the correct

explanation of (A)

B. If both (A) and (R ) are correct,but (R ) is the correct

explanation of (A)

C. If (A) is correct but (R ) is incorrect

D. If (A) is incorrect but (R ) is correct

Answer: c

Watch Video Solution

ns2

https://dl.doubtnut.com/l/_AJqkc2atMIyw


7. Assertion :  is linear 


Reason :Xe atom in  is sp hybridised

A. If both (A) and (R ) are correct and (R ) is the correct

explanation of (A)

B. If both (A) and (R ) are correct,but (R ) is the correct

explanation of (A)

C. If (A) is correct but (R ) is incorrect

D. If (A) is incorrect but (R ) is correct

Answer: c

Watch Video Solution

XeF2

XeF2

https://dl.doubtnut.com/l/_mz6ynR3qZKGz


8. Assertion :  is square planar 


Reason :Xe atom in  is  hybridised

A. If both (A) and (R ) are correct and (R ) is the correct

explanation of (A)

B. If both (A) and (R ) are correct,but (R ) is the correct

explanation of (A)

C. If (A) is correct but (R ) is incorrect

D. If (A) is incorrect but (R ) is correct

Answer: c

Watch Video Solution

XeF4

XeF4 dsp2

https://dl.doubtnut.com/l/_Wrp80sCAuA0N


9. Assertion :Ne and Ar do not form any chemical compound 

Reason :They have  fully filled valence shell electronic

configuration

A. If both (A) and (R ) are correct and (R ) is the correct

explanation of (A)

B. If both (A) and (R ) are correct,but (R ) is the correct

explanation of (A)

C. If (A) is correct but (R ) is incorrect

D. If (A) is incorrect but (R ) is correct

Answer: b

Watch Video Solution

ns2sp6

https://dl.doubtnut.com/l/_Tv0UXbvqy7bU


10. Assertion : Ionisation enthalpy of noble gases is zero 

Reason :Noble gases have fully field valance shell

A. If both (A) and (R ) are correct and (R ) is the correct

explanation of (A)

B. If both (A) and (R ) are correct,but (R ) is the correct

explanation of (A)

C. If (A) is correct but (R ) is incorrect

D. If (A) is incorrect but (R ) is correct

Answer: d

Watch Video Solution

https://dl.doubtnut.com/l/_CEAiDP2j8kXM


11. Assertion : Noble gases are diamagnetic atoms 

Reason :The atomic numbers of noble gases are even and all

the orbitals are doubly occupied by the electrons

A. If both (A) and (R ) are correct and (R ) is the correct

explanation of (A)

B. If both (A) and (R ) are correct,but (R ) is the correct

explanation of (A)

C. If (A) is correct but (R ) is incorrect

D. If (A) is incorrect but (R ) is correct

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_ioXN39XfwMrw


Exercises Integer

12. Assertion :  does not exist 


Reason :Bond order of  is 

A. If both (A) and (R ) are correct and (R ) is the correct

explanation of (A)

B. If both (A) and (R ) are correct,but (R ) is the correct

explanation of (A)

C. If (A) is correct but (R ) is incorrect

D. If (A) is incorrect but (R ) is correct

Answer: b

Watch Video Solution

Ne2

Ne2 1

https://dl.doubtnut.com/l/_Nl05fAia6y44


1. What is the oxidation number of  in ?

Watch Video Solution

Xe XeOF2

2. What is the total number of electron present in the last

orbit of argon?

Watch Video Solution

3. What is the percentage of argon in air ?

Watch Video Solution

4. What is the total number of unpaired eletrons in inert gas ?

W t h Vid S l ti

https://dl.doubtnut.com/l/_1bCf3USVQMBV
https://dl.doubtnut.com/l/_YrCDblbdhl3S
https://dl.doubtnut.com/l/_eMZlPy1gvSgo
https://dl.doubtnut.com/l/_Gc2UdHb8bHUq


Exercises Fill In The Blanks

Watch Video Solution

5. What is the total number of lons pair of electron present in

 in  ?

Watch Video Solution

Xe XeF2

6. What is the oxidation sate of ?

Watch Video Solution

XeF6

7. How many dpi-per bonds are there in ?

Watch Video Solution

XeO4

https://dl.doubtnut.com/l/_Gc2UdHb8bHUq
https://dl.doubtnut.com/l/_19wnfpjoDEAp
https://dl.doubtnut.com/l/_MMityyl6hptL
https://dl.doubtnut.com/l/_Fryet83g88fz


1. The word "Argon" means__________.

Watch Video Solution

2. The most abundant inert gas is___________.

Watch Video Solution

3. The principal source of helium is _________.

Watch Video Solution

4. Source of most of the noble gases is ____________.

Watch Video Solution

https://dl.doubtnut.com/l/_xPzrqz9GKqry
https://dl.doubtnut.com/l/_XSmYLZ5xOvkx
https://dl.doubtnut.com/l/_HXbAU3BYIkhq
https://dl.doubtnut.com/l/_tNAtlu7wJBj3


5. The symbol Rn represents________.

Watch Video Solution

6. The noble gas having the lowest atomic numbers is _______.

Watch Video Solution

7. In the clathrates of xenon with water , the nature of bonding

between xenon and water molecule is _________.

Watch Video Solution

https://dl.doubtnut.com/l/_tNAtlu7wJBj3
https://dl.doubtnut.com/l/_us25FGwxKLSU
https://dl.doubtnut.com/l/_8QBsKswYSQc9
https://dl.doubtnut.com/l/_9D9JRZtb2ZXj


8. The value of ionisation potential for inert gases is ________.

Watch Video Solution

9. The lifting power of helium is______of hydrogen.

Watch Video Solution

10. The formula of sodium perxenate is ______.

Watch Video Solution

11. The noble gas He was discovered in the chromosphere of

sum by________.

W t h Vid S l ti

https://dl.doubtnut.com/l/_7sTaZhAPkUD5
https://dl.doubtnut.com/l/_TW3ZDljMlP30
https://dl.doubtnut.com/l/_UEzCvUvk0XiN
https://dl.doubtnut.com/l/_CqIPXBFD61Ps


Watch Video Solution

12. The noble gas which shown abnormal behaviour in liquid

state and behaves as a super fluid is ____.

Watch Video Solution

13. _______is used as anaeshetic due to the formation of

aquenous clatherates in physiologically strategic sports

Watch Video Solution

14. , ratio for noble gases is ________.

Watch Video Solution

Cp /Cv

https://dl.doubtnut.com/l/_CqIPXBFD61Ps
https://dl.doubtnut.com/l/_IO6gRbTUAe1o
https://dl.doubtnut.com/l/_Dm8PctttLyBL
https://dl.doubtnut.com/l/_8DohKryopwGV
https://dl.doubtnut.com/l/_IbRF2X36bY14


Exercises True And False

15. The gas which is filed in tungstoen lamp is ________.

Watch Video Solution

1. Atmospheric air is free from noble gases.

Watch Video Solution

2. Xe is the most reactive noble gas

Watch Video Solution

3. He is an inert gas

https://dl.doubtnut.com/l/_IbRF2X36bY14
https://dl.doubtnut.com/l/_kpkkSqhTkSih
https://dl.doubtnut.com/l/_NscCzjsDDDXG
https://dl.doubtnut.com/l/_xhlp8fvh0lNr


Watch Video Solution

4. The most abundant inert gas found in atmosphere is helium

Watch Video Solution

5. Clathrates are also known as cage compounds

Watch Video Solution

6. Neon is obtained during radioactive disintegration

Watch Video Solution

https://dl.doubtnut.com/l/_xhlp8fvh0lNr
https://dl.doubtnut.com/l/_WvvHQoLkkXfI
https://dl.doubtnut.com/l/_Ay2bHAJDo8Zr
https://dl.doubtnut.com/l/_sPGfpFeWvlP8


7. He is an inert gas (T/F)

Watch Video Solution

8. Radon is obtained from the decay of radium.

Watch Video Solution

9. Helium is used to fill gas ballons instead of hydrogen

because it is lighter and non-inflammable

Watch Video Solution

10. On moving along the period , the atomic radii decreases

W t h Vid S l ti

https://dl.doubtnut.com/l/_zXN8KcSKWSaG
https://dl.doubtnut.com/l/_twCL5JzGRTin
https://dl.doubtnut.com/l/_rdafjPYi4F9c
https://dl.doubtnut.com/l/_iwD66wAt6WiM


Exercises Archives Linked Comprehension

Watch Video Solution

11. Clathrate compounds are used for transportation of noble

gases.

Watch Video Solution

1. The noble gases have closed-shell electronic cordigaration

and are monatomic gases under normal condition .The low

bolling points of the ligher noble gases aree due to the weak

dispersion points of the ligher noble gases an due to the weak

dispersion forces between the atoms and the alsence of other

interalumic interactions.

The direct reaction of xenon with flarine loads to a series of

https://dl.doubtnut.com/l/_iwD66wAt6WiM
https://dl.doubtnut.com/l/_gZtghYyWljI2
https://dl.doubtnut.com/l/_gprdTP0KjO1N


compounds with water oxidation number

 reactsviolenatly with water to give 

 .The compound of deduced axbibt nci strouchemistry

and their goometries can be deduced considering the total

number of electron puirs in the valence shell.

Argon is used in arc welding because of its

A. a.low reactivity with metals

B. b.ability to lower the melting point of metals

C. c.flammability

D. d.high calorific value

Answer: a

Watch Video Solution

+2, − 4 and + 6, XeF4

XeO2

https://dl.doubtnut.com/l/_gprdTP0KjO1N


2. The noble gases have closed-shell electronic cordigaration

and are monatomic gases under normal condition .The low

bolling points of the ligher noble gases aree due to the weak

dispersion points of the ligher noble gases an due to the weak

dispersion forces between the atoms and the alsence of other

interalumic interactions.

The direct reaction of xenon with flarine loads to a series of

compounds with water oxidation number

 reactsviolenatly with water to give 

 .The compound of deduced axbibt nci strouchemistry

and their goometries can be deduced considering the total

number of electron puirs in the valence shell.

The structure of  is

A. linear

B. planar

+2, − 4 and + 6, XeF4

XeO2

XeO3

https://dl.doubtnut.com/l/_XbCFKb7zTGea


C. pyramidal

D. T-shaped

Answer: c

Watch Video Solution

3. Noble gases have compleately filled valance shall i.e. 

exceps He (i.e) .Noble gases are monoomic under normal

conductions .Law bolding point of the ligher noble gases are

due to weak van dor wads forces between the atoms and

abance of any interature imaractions  reacts with  so

give a sourceof fouoxide mently 

on complete hydrolyes gives , 


 and  are expected to be

m2sp2

Xe F2

XeF2, XeF4, XeF4, XeF3

XeFe3

XeF4 XeF4

https://dl.doubtnut.com/l/_XbCFKb7zTGea
https://dl.doubtnut.com/l/_anqf7F0lSoSP


Exercises Archives Single Correct

A. oxidising

B. reducing

C. unreactive

D. strongly basic

Answer: a

Watch Video Solution

1. The shape of  molecule is

A. Trigonal hipyramidal

B. Square planar

XaO2F2

https://dl.doubtnut.com/l/_anqf7F0lSoSP
https://dl.doubtnut.com/l/_AgQKusQOz3vx


C. Tetrahedral

D. See-saw

Answer: d

Watch Video Solution

2. Under ambient condition , the total number of gases

released products in the final step of the reaction scheme

shown below is 

A. 0

https://dl.doubtnut.com/l/_AgQKusQOz3vx
https://dl.doubtnut.com/l/_7gUbeU3nVzKF


Exercises Archives Integer

B. 1

C. 2

D. 3

Answer: c

Watch Video Solution

1. A list of species having the formula  is given below 

and 


Defining shape on the basis of the location of X and Z atoms ,

the total number of species having a square planar shape is

W t h Vid S l ti

XZ4

XeF4, SF4, SiF4, BF Θ
4 , [Cu(NH3)4]

2 +
, [FeCl4]2 − , [CoCl4]2 −

[PtCl4]2 −

https://dl.doubtnut.com/l/_7gUbeU3nVzKF
https://dl.doubtnut.com/l/_abVA0Crdpx25


Exercises Archives Subjective

Ex 5 1 Subjective

Watch Video Solution

1. Draw the molecule structures of 

indicating the location of ione pairs of electrons

Watch Video Solution

XeF2, XeF4 and XeO2F2

1. Why helium and neon do not form compounds with florine?

Watch Video Solution

https://dl.doubtnut.com/l/_abVA0Crdpx25
https://dl.doubtnut.com/l/_Wu5hzAIHyJdU
https://dl.doubtnut.com/l/_ULyA8Bu7b3Ad


2. Why neon is used in warning signal illuminations?

Watch Video Solution

3. Why helium and neon do not form clathrates with quinol?

Watch Video Solution

4. Complete the following reactions

(a) 


(b) 


(c ) 


(d) 


(e ) 


(f)

XeF4 + H2O →

XeF6 + SiO2 →

XeF6 + H2 →

XeF6 + H2O →

XeF6 + SbF5 →

XeF6 + NH3 →

https://dl.doubtnut.com/l/_EFrWozRABpQA
https://dl.doubtnut.com/l/_9iOGvEwlwWQ6
https://dl.doubtnut.com/l/_Nux6vvqG0lZp


Watch Video Solution

5. Why zero group element do not form compound under

ordinary conditions?

Watch Video Solution

6. Why  does not from fluorides such as 

?

Watch Video Solution

Xe

XeF , XeF3 or xeF5

7. Does the hydrolysis of  lead in a redox reaction?

Watch Video Solution

XeF6

https://dl.doubtnut.com/l/_Nux6vvqG0lZp
https://dl.doubtnut.com/l/_AaVvLWFLa2n3
https://dl.doubtnut.com/l/_IYlPYW8cnXkw
https://dl.doubtnut.com/l/_PJpoIIacbNus


Ex 5 1 Objective

1. Boiling point and melting point of noble gases are in the

order

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

He < Ne < Ar < kr < Xe

He > Ne > Kr > Ar > Xe

He < Kr < Ne < Ar < xe

He > Kr > Ne > Ar > xe

2. Which of the noble gases has its inoisation enthalpy close

to that of molecular oxygen?

https://dl.doubtnut.com/l/_qB7VhxBkxna8
https://dl.doubtnut.com/l/_fVZIeVu1tyQk


A. Ar

B. Xe

C. Kr

D. Rn

Answer: b

Watch Video Solution

3. Which of the possible following florides of xenon is

impossible ?

A. 

B. 

C. 

XeF2

XeF4

XeF6

https://dl.doubtnut.com/l/_fVZIeVu1tyQk
https://dl.doubtnut.com/l/_8C6d8SsNSLKd


D. 

Answer: d

Watch Video Solution

XeF3

4. Xenon florides are colourless and at room temperature are

A. Solid

B. Liquid

C. Gases

D. Superifuil

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_8C6d8SsNSLKd
https://dl.doubtnut.com/l/_5yd6Tj0yth9F


5. The following observation are shown by

A. a.it is used for lifting airships and balloon for

metreological purpose because of its power equal to

 that of 

B. b.With  it is used for by deep sea divers for

respiration and also used in the treatment of respiratory

diseases like asthma.

C. c.Providing inert atmosphere in the welding of metals or

alloys that are easily oxidised

D. Used the inflating the type of big aeroplanes because

lightness.

Answer: c

92 % H2

O2

https://dl.doubtnut.com/l/_t5CZL9tX6HjR


Watch Video Solution

6. Used in cryoscopic experiment

A. Ne

B. Ar

C. He

D. Kr

Answer: a

Watch Video Solution

7.  is added to the oxygen supply used by sea divers

because

He

https://dl.doubtnut.com/l/_t5CZL9tX6HjR
https://dl.doubtnut.com/l/_nDoae9oC15tW
https://dl.doubtnut.com/l/_eenIUg0PAIMo


A. it is less soluble in blood than  a high pressure

B. it is lighter than 

C. it is readly miscible with 

D. it is less poisonous than 

Answer: B

Watch Video Solution

N2

N2

O2

N2

8. Which one of the following statement is not correct?

A.  is used in electric bulb

B.  is obtained during redioactive decay

C. Boiling point of helium to the lowest among all noble

gases

Ar

Kr

https://dl.doubtnut.com/l/_eenIUg0PAIMo
https://dl.doubtnut.com/l/_GWEc2FdhMHT1


D.  forms 

Answer: B

Watch Video Solution

Xe XeOF4

9. The coloured discharge tubes for advertisement mainly

contains

A. Xe

B. Ne

C. He

D. Ar

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_GWEc2FdhMHT1
https://dl.doubtnut.com/l/_kx2RFNaBx1El


10. Xenon reacts with

A. The most electropositive element

B. The most EN element

C. The hydrogen halide

D. Non-metals

Answer: A

Watch Video Solution

11. Discovery of noble gas compounds were the basic of

formation of an ionic solid , dioxigenyl hexafluoridoplatinate

https://dl.doubtnut.com/l/_kx2RFNaBx1El
https://dl.doubtnut.com/l/_zZGWGmi55GNI
https://dl.doubtnut.com/l/_GMCmu1qEdWxU


(V)  when  reacts with  .This experiment

was carried out by

A. Bartlett and Lohman

B. Ramsay

C. Dawar

D. Fischer -Ringe

Answer: c

Watch Video Solution

O⊕
2 [PtF6] Θ

O2 PtF6

12. Which one of the following does not exist?

A. 

B. 

XeF2

XeF4

https://dl.doubtnut.com/l/_GMCmu1qEdWxU
https://dl.doubtnut.com/l/_RThN15vrpkos


C. 

D. 

Answer: c

Watch Video Solution

ArF2

XeF6

13. When deep red  vapour was mixed with  at room

temperature to produce a yellow inoic solid .The product is

A. 

B. 

C. Both (a) and (b)

D. None

Answer: c

PtF6 Xe

Xe⊕ [PtF6] Θ

[Xe⊕ ][Pt2F11] Θ

https://dl.doubtnut.com/l/_RThN15vrpkos
https://dl.doubtnut.com/l/_8qi5pQpiVLuB


Watch Video Solution

14. a. 


b. - 3H_(2)O +

6F^(Θ) 2HXeO_(4)^(Θ) + 2OH^(Θ) rarr _____ Xe + 2H_(2)O

+O_(2) XeF_(6) + H^(Θ)(acidic) rarr _______XeOF_(4) +_____

6XeF_(4) + 12H_(2)O rarr _______+24HF + 4Xe + 3O_(2) 2XeF_(2)

+ 2H_(2)O rarr ____ + 4HF + 3O_(2) XeF_(6) + 3H_(2) rarr 6HF +

_____`

Watch Video Solution

XeF6 + 4NaOH + 8H2O → _ __ _

XeF6 + 7OH Θ (stronglybasic) → _ __ _

c.

d. e.

f.

g.

https://dl.doubtnut.com/l/_8qi5pQpiVLuB
https://dl.doubtnut.com/l/_9zu7H3mf30ZW

